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mb c̄ 6 p`(1− γ5)ν ¯̀(1 + γ5)b ⇒ c̄(6 pb− 6 pν− 6 pc)(1− γ5)ν ¯̀(1 + γ5) 6 pbb

mc c̄ 6 p`(1 + γ5)ν ¯̀(1− γ5)b ⇒ mc

m`
c̄ 6 p`(1 + γ5)ν ¯̀ 6 p`(1− γ5)b
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Mb =

∫
dDk

(2π)D
c̄(ieQcγ

a)
i

6 pc− 6 k −mb + iε
γµ(1− γ5) b

−igab
k2 + iε

× ¯̀(ieQ`γb)
i

6 p`+ 6 k −m` + iε
γµ(1− γ5)ν

=
2

3
ie2

∫
dDk

(2π)D
N

k2[(pc − k)2 −m2
c ][(p` + k)2 −m2

` ]
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1

k2[(pc − k)2 −m2
c ][(p` + k)2 −m2

` ]

= Γ(3)

∫
dxdy

{k2 − 2k · (xpc − yp`)}3

= Γ(3)

∫
dxdy

{[k − (xpc − yp`)]2 − (xpc − yp`)2}3

= Γ(3)

∫
dxdy

{`2 −∆}3
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'X��

pc · p` (c̄b)V−A(¯̀ν)V−A =
D2 − 6D + 4

D2(D − 2)
mcm` (c̄b)V+A(¯̀ν)V−A

?1���©f�µ

N = {D
2 − 10D + 8

D
(`2 + x2m2

c + y2m2
` )

+[2(D − 2)2 + 8 +
8D

D2 − 6D + 4
]xypc · p`

+2(D − 2)(x + y)pc · p`
+2xm2

c + 2ym2
` + 4pc · p`} (c̄b)V−A(¯̀ν)V−A
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